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#include <iostream>
#include <algorithm»
using namespace std;
const int N = 188818;
struct node {

int 1, r;

¥ alnl;
bool cmp(node a, node b) {

h

return a.r £ b.r;

int main() {

int mn;

cin »» n:

for (int 1 =8; 1 < n; 1i++) {
cin »» a[i].1l »» a[i].r;

¥

sort(a, a + n, cmp); // Fi¥EHaliE

int cnt = 6; I IR s e

int ed = -2e9; /I HEEE— RS (T hEER)

for (int 1 =8; 1 < n; 1++) {
[ MREE A e T T Ea U, EEHEES
if (a[i].1 » ed) {
cnt++;

ed = a[i].r; // HEEIEINEFGRSIEAFS

1
)
cout << cnt << endl;
return 8;
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#include <iostream>
#include <algorithm>
using namespace std;
struct node {

int start;

int end;
lact[1@e@e865];
bool cmp(node x, node y) {

return x.end < y.end; // IREFITEHEHIE

h

int main() {
int n;
cin »» n;

node act[n];
/1 A FTE AT ER2E]
for (int i =8; 1 < n; i++) {
cin »» act[i].start »» act[i].end;
b
/1 REEERET EH FRHEFF
sort(act, act + n, cmp);
int count = 8; /1 RRIRER TR E
int end = -1; /f EREREER A EE R (]
/1 BT e A
for (int i =8; 1 < n; i++) {

if (act[i].start »>= end) { // ZHEl&ENHIGETERR T _t— - EchalE=RET A

count++; /1 FEEREEED
end = act[i].end; // EEREL AT (E]
h
¥
cout << count; // RiLSZEREEMETEIMIZ
return 8;
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#include <iostream:
#include <vector:
using namespace std;

int main{) {

int n, M;

cin »» n > M; // EREIHCEIDISESIN
vector<int> nums(n); // TEES|FEEE

for (int i =8; 1 ¢ n; i++) {
cin >» nums[i]; // EEEITE

¥
int cnt = 1; /Bt R (EaEE
int cur = @; /1 SR ERRED

for (int i = 8; i < n; i++) {
/1 =R aERT
if (cur + nums[i] <= M) {
cur += nums[i]; // I0ASETER
} else {
cnt+4; [ EEE
cur = nums[i]; // FoENSETEHE

}

cout << cnt << endl; // HiteloERE
return @;
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